

# Global behavior of certain types of neutral delay difference equations

G. Gomathi Jawahar\*  
Department of Mathematics,  
Karunya University, Coimbatore,  
Tamil Nadu, India.

M. Chithra  
Department of Mathematics,  
Karunya University, Coimbatore,  
Tamil Nadu, India.

**Abstract**— The aim of this paper is to investigate the global behavior of neutral delay difference equations of the first and third order. Examples are provided to prove the results.

**Keywords**—Neutral, Delay, Oscillation, Non Oscillation, Solution.

## I. INTRODUCTION

First order Neutral Delay Difference Equation is gaining interest because they are the discrete analogue of differential Equations. In recent years, several papers on oscillation of solutions of Neutral Delay Difference Equations have appeared. [2]John R.Graef, R.Savithri, E.Thandapani (John R. Graef, 2004) have analyzed the non oscillatory solutions of first order Neutral Delay Differential Equations with positive coefficient in the Neutral term. [3] Xi-lan Liu and yang-yang dong provided some oscillatory solutions of third order Neutral Delay Differential Equations.

[1]Ozkan Ocalan extensively discusses the problem of Oscillation of neutral differential equation with positive and negative coefficients, J. Math.Anal.Appl. 33(1), 2007, 644-654. [9]Tanaka, S. (2002) discussed the various Solutions of Oscillation First order Neutral Delay Differential Equations.

Here some oscillation results in difference equations based on the existence results of differential equations are provided. Examples are provided to illustrate the results.

## II. MAIN RESULTS

**Theorem 2.1.** If  $\sum_{s=N_0}^n \rho_s q_s f(1-p_{s-m}) = \infty$  then, every solution of the equation  $\Delta(x_n + p_n x_{n-l}) + q_n f(x_{n-m}) = 0$ ,

is oscillatory, for some  $\rho_n, p_n > 0, f_{nm} > f_n f_m, N_0 > 0, l, m > 0$ .

**Proof.** Suppose  $x_n$  be a non oscillatory solution of

$$\Delta(x_n + p_n x_{n-l}) + q_n f(x_{n-m}) = 0. \quad (1.1)$$

Without loss of generality let us assume that  $x_n$  is

eventually positive solution. Let  $z_n = x_n + p_n x_{n-l}$ . Obviously,

$$\begin{aligned} \Delta(x_n + p_n x_{n-l}) + q_n f(x_{n-m}) &= \Delta z_n + \\ q_n f(z_{n-m} - p_{n-m} x_{n-m-l}) &= 0. \end{aligned} \quad (1.2)$$

$$\Delta z_n + q_n f(z_{n-m}) f(1 - p_{n-m}) < 0 \quad (1.3)$$

Define

$$w_n = \frac{\rho_n \Delta z_n}{f(z_{n-m})} \text{ then } w_n > 0.$$

(1.3) becomes,

$$\frac{w_n f(z_{n-m})}{\rho_n} < -q_n f(z_{n-m}) f(1 - p_{n-m})$$

$$w_n < -\rho_n q_n f(1 - p_{n-m})$$

Therefore,  $\rho_n q_n f(1 - p_{n-m}) < -w_n$ .

$$\text{Generalizing, } \sum_{s=N_0}^n \rho_s q_s f(1 - p_{s-m}) < \infty,$$

for  $n \geq N_0$ . This contradicts the given condition of the theorem. Hence every solution of the equation (1.1) is oscillatory.

**Theorem 2.2.** Let  $x_n$  be a non oscillatory solution of the equation (1.1) and if the following assumptions holds,

$$A_1 : \frac{f(u)}{u} > \gamma > 0, 0 < p_n \leq 1.$$

$$A_2 : Q_s = \sum_{s=N_0}^n q_s (1 - p_{s-m}) < \infty,$$

\*Corresponding author.

This paper was presented by the first author in the National Conference on *Advances in Mathematics and its Applications to Science and Engineering* (AMASE-2016) conducted in Department of Mathematics, University College of Engineering Pattukkottai, Thanjavur, Tamil Nadu, India, on 22<sup>nd</sup> January 2016.

$$\text{then } V_{N_0} \geq Q_s + \sum_{s=N_0}^n Q_s V_{N_0}.$$

**Proof.**

Let  $x_n$  be a non oscillatory solution of the equation (1.1) and without loss of generality, assume that  $x_n > 0$ . Let  $z_n = x_n + p_n x_{n-l}$ ,  $\Delta z_n = -q_n f(z_{n-m} - p_{n-m} x_{n-m-l})$ . From A1 :  $\Delta z_n + q_n f(z_{n-m} - p_{n-m} x_{n-m-l}) \leq 0$ , since  $z_n > x_n$ ,

$$\Delta z_n + q_n z_{n-m} (q_n - p_{n-m}) \leq 0, \quad (1.4)$$

$$\text{Define } v_n = \frac{z_n}{z_{n-m}}, \Delta v_n = \frac{z_{n-m} \Delta z_n - z_n \Delta z_{n-m}}{z_{n-m} z_{n-m+1}}$$

$$\frac{\Delta v_n z_{n-m} z_{n-m+1} + z_n \Delta z_{n-m}}{z_{n-m}} = \Delta z_n$$

From (1.4)

$$\frac{\Delta v_n z_{n-m} z_{n-m+1} + z_n \Delta z_{n-m}}{z_{n-m}} = -q_n z_{n-m} (1 - p_{n-m})$$

$$\Delta v_n z_{n-m+1} + \frac{z_n \Delta z_{n-m}}{z_{n-m}} = -q_n z_{n-m} (1 - p_{n-m})$$

$$\Delta v_n \leq -q_n z_{n-m} (1 - p_{n-m})$$

$$\Delta v_n \leq -q_n z_{n-m} (1 - p_{n-m}) - v_n^2$$

taking summation from  $s = N$  to  $n$ ,

$$\sum_{s=N_0}^n v_{s+1} - v_s \leq -\sum_{s=N_0}^n q_s (1 - p_{s-m}) - \sum_{s=N_0}^n v_s^2$$

$$v_{n+1} - v_{N_0} \leq -Q_s - \sum_{s=N_0}^n v_s^2$$

$$-v_{N_0} \leq -Q_s - \sum_{s=N_0}^n v_s^2 \quad \text{Since } v_{N_0} \geq Q_s$$

$$v_{N_0} \geq Q_s + \sum_{s=N_0}^n Q_s v_{N_0}.$$

This completes the theorem.

**Example 2.3.** Consider the first order neutral delay difference equation  $\Delta(x_n + n^2 x_{n-1}) + (2n^2 + 2n - 1)x_{n-1}^3 = 0$  (1.5)

Equation (1.5) satisfies all conditions of theorem 1.1 and hence all its solutions are oscillatory. One such solution is  $x_n = (-1)^n$ .

**Example 2.4.** Consider the first order neutral delay difference equation,

$$\Delta(x_n + \frac{1}{n-2} x_{n-1}) + (\frac{2n^2 - 8n + 7}{(n-1)(n-2)}) x_{n-1}^2 = 0, n > 1, 2 \quad (1.6)$$

Equation (1.6) satisfies all conditions of theorem 1.1 and hence all its solutions are oscillatory. One such solution is  $x_n = (-1)^n$ .

**Theorem 2.5.** If  $y_n$  is an eventually positive solution of equation  $\Delta(a_n \Delta b_n (\Delta(y_n + p_n y_{n-k}))) + q_n f(y_{n-l}) = 0$  (1.7)

and  $z_n = y_n + p_n y_{n-k}$  then for sufficiently large  $n$ , the following condition exists.

$$z_n > 0, \Delta z_n > 0, \Delta(b_n \Delta z_n) > 0.$$

**Proof.** Let  $y_n$  be an eventually positive solution of equation (1.7). Then there exists  $n_1 \geq n_0$  such that  $y_{n-k} > 0$ ,  $y_{n-1} > 0$  for  $n \geq n_1$ .

From the definition of  $z_n$ , it is clear that  $z_n > 0$  and  $\Delta(a_n \Delta b_n \Delta z_n) \leq 0, n \geq n_1$ .

We claim that

$$\Delta(b_n \Delta z_n) > 0, \quad \text{for } n \geq n_2.$$

Suppose  $\Delta(b_n \Delta z_n) \leq 0$ , for  $n \geq n_2$ .

Since  $a_n > 0$ , we claim  $a_n \Delta(b_n \Delta z_n) < 0$ , for  $n \geq n_3$ .

Then for  $a_n \Delta(b_n \Delta z_n) < 0$ , for  $n \geq n_3$ , we get

$$a_n \Delta b_n \Delta z_n \leq a_{n_3} \Delta b_{n_3} \Delta z_{n_3} \leq 0. \quad (1.8)$$

Dividing (1.8) by  $a_n$ , we get

$$\Delta b_n \Delta z_n \leq (a_{n_3} \Delta b_{n_3} \Delta z_{n_3}) \frac{1}{a_n} \leq 0.$$

Taking summation from  $n_3$  to  $n$ , we obtain

$$\sum_{n_3}^n (b_{n+1} - b_n) \Delta z_n \leq a_{n_3} \Delta(b_{n_3} \Delta z_{n_3}) \sum_{n_3}^n \frac{1}{a_n} \\ (b_{n_3+1} - b_{n_3}) \Delta z_{n_3} + (b_{n_3+2} - b_{n_3+1}) \Delta z_{n_3+1} + \\ (b_{n_3+3} - b_{n_3+2}) \Delta z_{n_3+2} + \dots + (b_{n+1} - b_n) \Delta z_n \leq \\ a_{n_3} \Delta(b_{n_3} \Delta z_{n_3}) \left( \frac{1}{a_{n_3}} + \frac{1}{a_{n_3+1}} + \dots + \frac{1}{a_n} \right)$$

We have,  $b_n \Delta z_n \rightarrow -\infty, n \rightarrow \infty$ .

Hence there exists  $n_4 \geq n_3$ , such that

$$b_n \Delta z_n \leq b_{n_4} < 0, \quad (1.9)$$

for  $n \geq n_4$ .

Dividing equation (1.9) by  $b_n$ ,  $\Delta z_n \leq b_{n_4} \Delta z_{n_4} \frac{1}{b_n}$ .

Taking summation from  $n_4$  to  $n$ ,

$$\sum_{n_4}^n (z_{n+1} - z_n) \leq b_{n_4} \Delta z_{n_4} \frac{1}{b_n} \\ z_n \rightarrow -\infty, n \rightarrow \infty.$$

which contradicts the statement of theorem 2.5.

Hence we have  $\Delta(b_n \Delta z_n) > 0$  for all  $n$ .

## REFERENCES

- [1] Ozkan ocalan, oscillation of neutral differential equation with positive and Negative coefficients, j.Math.Anal.Appl.331(1)(2007),644-654.
- [2] John R.Graef,R.S.(2004). Oscillation of First order Neutral Delay Differential Equations. Electronic journal of Qualitative of differential Equation,proc.7thcoll.QTDE,NO.12,1-11.
- [3] Xi-Lan Liu and Yang-yang Dong, oscillatory Behavior of Third order difference equations, International journal of difference equations ISSN 0973-6069, volume 9, Number 2, pp223-231(2014).
- [4] Tanaka, S.(2002). Oscillation of solution of First order Neutral Delay Differential Equations.Hiloshima Mathematical Journal,32,73-85.